EARAZROREIERT — 2 N—XBISY —F 20185128178 (B) 9EIK;R6H

AR =R ECEE R
[xE£] 1 %:200,000H  2#%:46,000™ ~ 33#%&:26,000M  43%&:18,000H ~ 5 #&:10,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 6l b=t UsL H o3 E%I_I(l)’fé— 1:(2_8).6 1-1-1-1 | 38.4| — | 1 | 433 gﬁif OKiR)
R:TZRT8— BiLy RT74-U7 #2) BESH IRXFc77—4
olgliol 7T hT—0 i 3 g;*fgif 1:29.4 3-3-3-3 [38.8| — 3 380 iggég (B&FE)
. 5
:Z2FAd—IV R B:YAIRXIXRLY © (0 l:"-y’iiy K77—L
; —: s o6 | BT 1:29.4 1-2-2-2 |39.0| — 2 50 | FEZE (KR
3|78 7T —T 5.0 (F5) PR
RiYZRE—IZX4— BU—FboE—X T @ | e
; BEREE 1:30.3 9-8-7-6 [38.2| — 9 478 | FiEF= (BERE)
F—J<vRY2 a4 g ]
o 6) (#%) K>z
QAL a K5 BT T H— )| smrnsg
i =AY €24 %2718#5 1:30.7 5555 | 39.4| — 5 | 408 %EE: (&)
- . 21/2 a
QHLSAN— b Bk hIFAAY @172 R k=S
MALY T — o4 gﬁﬁ 1:30.7 4444 |39.9| — | 6 | 365 f%ﬁi (2&F)
. 7€ TEmE—
QRFATLE B STU—X> &) W) | X E s Tr—s
ey TFS—2Ly b o4 gZJB%’ 1:31.3 7-6-6-7 |39.6 — | 4 | 469 %zgi OKiR)
. 4
QXG4T RHLE L BIHAFILHLZR @ O ") saa—KL—varazTs
- AHEE 1:31.7 10-10-10-8 | 39.1 | — 7 47 | EBEE— OKR)
HhIyrl)d 5 ¥¢53.0 =
. 2 1/2) | B2
LTSy K BTy | S
. Y B4 | BEIXE 1:31.7 6-7-8-9 | 39.4| — 8 431 | ERAE (KR)
N N FILL ]
10/5]5| BLET i 6 ;':*gﬁ 1:31.9 8-9-9-10 [39.4| — | 10 | 479 iig@k (FKR)
. 3/4 =
QAT AT AL R BTN —R— @ S PV
p s | LA - - | =] - | we [mmE— ooR
wl7| 9| YEXEZEZOY 56.0 Rash AR
Q:TUA—Y BRTA RA— b (o | X Eos
® I —F—@EBIERL
13—7- (6,8),10,1,3,11,2,5,4,7
2ol=7r= 6,8,10,1,3,2,11,4,5,7
Jol=5r= 6,8,10,1,3,2,4,11,5,7
40—+ — 6,8,10,1,3,4,2,7,11,5
[ N3
H OB 6 200/ 714K 6-10 150 % E 6-8 470M 3EHE 6-8-10 210/
8 B 6 100M 6-8 120 B & 6-10 340/ K31 6-10-8 740
10 110M 8-10 210 B H 6-10 410/
8 1004

ABICOVWTRDTEEERROODE. TR LIV,



